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Total cost=C = .25q2 =.25(qa + qL)2
ga=100-2P, gL =100 - 4P,
PA=50—qA/2 PL:25_QL/4

RAszqAZSOqA-qi/Z R, =Prqr = 25qL—qi/4
MR,=50-¢q, MR; =25-¢q,/2
MCy=5(gs+q1) MCL=.5(q4+q1)

Set MR, = MCA and MRL = MCL

50— g4 =.594+.5q1 25—% =.5q4 +.5q1

Solving these simultaneously gives

a. Op= 2,600,000 — 200,000P

¥

QA:?’O PA:35
qr=10 P =225 n=1050+ 225 —400 =875

In the long run, P = $3, so Os = Op = 2,600,000 — 200,000(3) = 2,000,000.

2000000 bushels
1000 bushels/farm

= 2000 farms

Since Qs = 2,000,000 bushels, there are

Os = Op = 3,200,000 ~ 200,000P
In the short run, Os = 2,000,000, so 2,000,000 = 3,200,000 — 200,000P
1,200,000 = 200,000P P = $6/bushel

7= q(P— AC) =1000(6 - 3) = 3000

. P =$3/bushel in the long run.

Os = Op = 3,200,000 — 200,000(3) = 2,600,000 bushels
2,600,000 bushels

There will be = 2,600 farms.
1000 bushels/farm
P
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